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In this engineering manual, we will show you some advanced modeling options. We will do: 

- Creation of a geological fault 

- Modification of the model by changing the layer generation order 

- Modification of the model using a new geological section 

Assignment: 

The example is based on the geological model from the previous engineering manual No. 40 - Basic 

Work using the Stratigraphy Program. 

 

During an additional geological survey, a borehole C1 was carried out at the [18,4]. The borehole 

found a layer of backfill 0.8 m thick, then a 1.5 m thick layer of weathered slate, and was ended in a 

strong slate. The task is to adjust the model so that it respects the findings and also fully corresponds 

to our ideas of geology in the area. 
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Solution: 

The bedrock was discovered at the top of the slope. Wel assume, that it goes straight down. This can 

be modeled the best by faults. 

 

We will add a C1 borehole in the field test frame. 
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We will go to the ά{ƻƛƭǎέ ŦǊŀƳŜ ŀƴŘ ŎƻǇȅ ǘƘŜ soils from field tests. 

¢ƘŜƴ ǿŜ ǿƛƭƭ Ǝƻ ǘƻ ǘƘŜ ά9ŀǊǘƘ ǇǊƻŦƛƭŜǎέ ŦǊŀƳŜ ǿƘŜǊŜ ǘƘŜ soil profile C1 is automatically generated. 

Now in the geological section frame, we will modify the entered geological section BH1-BH3. 

 

We will add the C1 borehole to the geological section. 
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We will switch to editing of geological section. The borehole is now shown in the geological section. 

 

We will enter a fault ς add a new interface and check the Fault checkbutton. 
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After the generation of sections, only the soils located to the left of the fault are assigned. 

 

We enter the interface behind the fault and assign it a new interface (Landfill behind fault) 
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Next, enter the assumed location of the weathered slate. 

 

This completes the section. Although the landfill interface divides the weathered slate layer, the 

model generation will not be affected by it. 
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We will go the geological model frame. The number of soils, resp. interfaces between the soils 

remains the same as in the previous example. It is necessary to add new soils to the master borehole. 

The number of soils and their layers is always given by the master borehole.  

 

We will open the window for editing the master borehole and add new soil behind the fault (from 

top to bottom). As we do not know the position of the layer interface in the borehole (or there is no 

ƛƴǘŜǊŦŀŎŜ ŀǘ ŀƭƭύΣ ǿŜ ǿƛƭƭ ƭŜŀǾŜ ǘƘŜ ƭƻŎŀǘƛƻƴ ǘȅǇŜ ŀǎ άƴƻǘ definedέ 
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The layer table has now changed. We will assign the fault interface and other soil interfaces behind 

the fault. 

 

After generating the model, we can see that the layer of landfill passes through the fault and that the 

model is not generated properly. This is due to the order, in which the layers are generated. The 

layers are generated sequentially from top to bottom. Meaning that the landfill interface is 

generated the first, then Silt-clay and only then the fault. It is therefore cut by the interfaces, that 

were generated earlier. 

 

  


